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T0T 3 LB (FHDBEOZEE)

/> bunki.c FHDBEDFEE ( arAVNEEE ) */
#include<stdio.h>
int main()

{

int a;
int b;
int c;
printf("32DEHZ A AL TTEL¥N"Y);
printf("a=");
scanf(%d", &a);
printf("b=");
scanf(*%d", &b);
printf("c=");
scanf("%d", &cC);
/* ROR—2(THe >/
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/= frE*/
if((a<=b) && (a<=c))
{
printf(“ald&/NTY . ¥n");
¥
if((b<=a) && (b<=c))
{
printf(“bIEX&/NTY . ¥n");
b
else
{
printf(“bIEX&/NTIEHYFEH A, ¥n");
¥
return O;
s
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if(a%2==1)
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printf("al&FHTT . ¥n");
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printf("alXIEEDFEH TT . ¥n");
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Jag 5 L2
ax+b =0 2OAREREMETOT T L (Z5IEAR)
/*
/8 :yyyy/mm/dd
VERLE  ARTEAER
H#$£3 5 :BOOBOXX
Y—XTJ7A)L:equationl.c
E{TI74 )L :equationl
HILZE
FRERax+c=0DfEZROZTOT T L, (ZHELR)
AJ:
ZEANMNS2DODE I, bEZDIEFICAAT S,
H A
FEHNICHEDOIER . BOEZEH DT S,
*/
/* RDR— 2L */

20




2010FEETRY

EoMEIEHIZKD NI

FIVTEEER

/> fmE >/

#include <stdio.h>

int main()

{ _
/* EHEE */
double a; [*1LRDEFRE/
double b; [/*TEHIE*/
double x; /*f&>/
I*EHA D>/
printf(“ax+b=08 D AEXZMEEET ., ¥n");
printf ("1 RDIBEDZRHEAALTTFEL, a=2¥n");
scanf("%lf", &a);
printf("EZIEEF A AL TTELY, b=2¥n");
scanf("%lf", &b);

/*%i<>/
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/* fE */

printf(“A = : (%4.1f) x+(%4.1f)=0.0)%fEEFE 7T, ¥n”,a,b);
if(a!=0.0 && b!=0.0)
{ 7*CDBEIF—RAEX*/
x=-b/a;/*a!=0.0&kY ., E|VETE5,*/
printf(“fZ1X—& T. x=%6.2f A TI, ¥n”,x);
b
else if(a!=0.0 && b==0.0)
{/*CDBEIF—RAER*/
printf(“f&(X—&E T. x=0.0 N T, ¥n");
b

else if(a==0.0 && b==0.0)
{/*ZDGEFEEX>/
printf(“fEFRE . ETHOEHXDREH=LET . ¥n”);

¥
else /*&HHEFLLELTH, a==0.0 && b!=0.0*/
{/*DIFEIFIEBRK*/
printf(“fEFgE. EALGEH LR EH-LEEA¥N");
¥

return O;
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$ ./equationl
ax+b=0R D AEXEMHMEET .,
1TRDIEDFRBEAALTTS L a="

2.0

EHIBEEANLTTFEL, b="

1.0

772X (( 2.0) x+( 1.0)=0.0)%fE=ZF7,
f2lZ—ET.x= 0.50 A#ETI,

$
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/*
R B :yyyy/mm/dd
ERE - A KER
FEEFEE BOOBOXX
Y—XTJ7A )L :equation2.c
E{TI74 )L :equation2
EzLE
FHREKax+c=0DREERDZTAT S L, (ZEHIEIR)
AK:
THEANID2DDEHa,bZZDIEFICANT S,
HA:
FEHAICHEDOIER . BOEEZHNT S,
*/
/= ROR—T (7L =/
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{

/* & */
#include <stdio.h>
int main()

I* THE
double a; /=1L RDZE>/
double b; /*TEFTE>/
double x; /*f&>/

*/

il

I*BEA >/
printf(“ax+b=0R D AREXZHEEZET, ¥n");
printf(" 1 RDIEDFZEHEAALTTEL, a=7¥n");
scanf("%lf", &a);
printf("EHIEEASLTTIL, b=2¥n");
scanf(*'%lf", &b);

Vi
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/* fE= ~/

printf(“A 1= : (%4.1f) x+(%4.1f)=0.0)%fEE%E 7T, ¥n”,a,b);
if(a!=0.0) /* COBE—RAERX ThHD, */
{
x=-b/a;/*a!=0.0&kY. EIYETE5S, */
printf(“f&[X—& T. x=%6.2f HRTT, ¥n",X);
b
else /* ZOiZE . BEXNMEBRKICLDL, */

if(b==0.0)
{ printf(“fEFRE . ETHOE#HXDRZEm=LET . ¥n”);
elsg
printf(“f2FgE. EALEBXBREF-LELEA¥N");
. by
return O;
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TS LBIBDETHER

$ ./equation2
ax+b=0 D AREXZTHZFT .,
1TRDEQFZRBEANLTTSL a="7

0.0

EHIEZANDLTTFSL, b="

0.0

F#xX:(( 0.0) x+( 0.0)=0.0)%fE=ET,
BATE. ETCOEHXIKEHmLET,

$
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